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1) TRADE THEORY
Question No. 1/ Question ID 96 Marks: 2.00
What is the name of the part marked as ‘X’ shown in the figure?

o ¥ famme e x @ IR HFT &1 918 a1 82

.globaliti.org

(A) O Leverarm
ferar s

(B) O Lower blade (Correct Alternative)
IEEGIESS (Correct Alternative)
(C) O Upper blade
RENKCSKS

(D) O Base plate (Chosen Option)
9 WiE (Chosen Option)

Question No. 2 / Question ID 74 Marks: 2.00
What is the reading of the vernier caliper shown in the figure?

o o fewmu U affieR SR &1 uteuie |1 82




(A) O 35.2 mm (Correct Alternative)
35.2 mm (Correct Alternative)

(B) O 35.1 mm (Chosen Option)
35.1 mm (Chosen Option)

(C) O 354 mm
35.4 mm
(D) O 35.3mm L
35.3
" www.globaliti.org
Question No. 3 / Question ID 48 Marks: 2.00

Which metal property can be drawn into the wire without any rupture?
for &1 & T[0T Y o fopelt ge-toe & AR & i S Jebar 872
(A) O Tenacity

ARy

(B) O Ductility (Correct Alternative)
(Correct Alternative)
(C) O Elasticity (Chosen Option)
(Chosen Option)
(D) O Malleability

Question No. 4 / Question ID 88 Marks: 2.00
What is the spindle movement of one division of thimble with spindle thread of 0.5mm pitch?

0.5 forft for & s a 9 & a1y e & Ua fedioH &t fRisa gadc g2




(A) O 0.5mm
0.5 fot
(B) O 0.01 mm (Correct Alternative)
0.01 forft (Correct Alternative)
(C) O 0.02mm
0.02 ferst
(D) O 0.001 mm (Chosen Option)
0.001 ot (Chosen Option)

Question No. 5/ Question ID 137 Marks: 2.00
What is the name of the part marked as ‘X’ shown in the figure?

o & fewmmu e X & Tu  fifgd Wi &1 | ) ge

.globaliti.org

(A) O Head

(B) O Diameter (Chosen Option)
MY (Chosen Option)

(C) O Tail
¢d

(D) O Body (Correct Alternative)
glst (Correct Alternative)

Question No. 6 / Question ID 269 Marks: 2.00
What is the name of the part marked as ‘X’ shown in the figure?
X' fafgd T &1 91| F1 82




.globaliti.org

(A) O Body
et

(B) O External jaw
Eil
(C) O Crown wheel (Correct Alternative) (Chosen Option)
134 c_{?fﬁ (Correct Alternative) (Chosen Option)
(D) O Back plate
LA

Question No. 7 / Question ID 24 Marks: 2.00

Which angle is represented by the symbol “y” on the cutting chisel shown in the figure?

fomr o feRaTe U e <ord WR Udie "y §RT I T 6107 ST 747 87




(A) O Rake angle (Correct Alternative) (Chosen Option)
IP PIUT (Correct Alternative) (Chosen Option)

(B) O Clearance angle

(C) O Cutting angle
DI DI

(D) O Wedge angle
a9 Pl

w.globaliti.org

Question No. 8 / Question ID 220
What is the name of the part marked as ‘X’ shown in the figure?

o & fgmme u ) @ IR WFT &1 A8 T |2

Marks: 2.00




(A) O Molten iron

e ST www.globaliti.org

(B) O Tapping hole
<ft

(C) O Molten slag (Chosen Option)
(Chosen Option)
(D) O Tuyeres (Correct Alternative)
(Correct Alternative)

Question No. 9 / Question ID 14 Marks: 2.00
What is the name of the part marked as ‘X’ shown in the figure?

WHY I 7 X’ & TU H ffgd HIT &1 719 7 872




(A) O Nut
-c

(B) O Scriber

REJEER
(C) O Snug (Correct Alternative) (Chosen Option)
HT (Correct Alternative) (Chosen Option)

(D) O Spindle
sd

w.globaliti.org

Question No. 10 / Question ID 217
What is the advantage of gauging of components?
GTdH! & TN BT T ATH g2
(A) O Expensive
e

Marks: 2.00




(B) O Skilled operator is required (Chosen Option)
P HTORTR B TIRIHT § (Chosen Option)
(C) O Slower checking
I

(D) O Faster checking of the product (Correct Alternative)
IdTG DI CEACIE (Correct Alternative)

Question No. 11 / Question ID 180 Marks: 2.00
What is the name of the angle marked as ‘X’ shown in the figure?

o ¥ famme 7w x @ RIfRd Wet &1 919 o 82

.globaliti.org

(A) O Helix angle (Correct Alternative)
U (Correct Alternative)
(B) O Tapper lead angle (Chosen Option)
o8 WA (Chosen Option)
(C) O Bevel angle
EERAWK|
(D) O Clearance angle

UId

Question No. 12 / Question ID 299 Marks: 2.00

Which type of oil is used for extreme cutting conditions of modern tools?
MYH JUBUN Bt AP FHels o FUfd & T frg UHR & da BT ITaRT foram Sram 82
(A) O Straight mineral oil (Chosen Option)

e @t aa (Chosen Option)
(B) O Soluble mineral oil

AR @l ad
(C) O Lardall

Tal 1 dd
(D) O Sulphurized oil (Correct Alternative)

(Correct Alternative)

Question No. 13 / Question ID 38 Marks: 2.00




Which caliper has one leg with an adjustable divider point and the other leg bent?
fohg PefloR T U o H Teoeadl fSage” e BT & 37K g&RT ol TST g3 Bidl 872
(A) O Outside caliper

3ITHISS HAUTR
(B) O Inside caliper

SIS Bl
(C) O Jenny caliper (Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

(D) O Spring joint caliper

@R Sarge

Question No. 14 / Question ID 107 Marks: 2.00
Which hammer is suitable for riveting?
DI 1 gUreT RRafe & fog Iuged 82
(A) O Plastic hammer (Chosen Option)
WD BT E’@IST (Chosen Option)
(B) O Cross pein hammer
e U greT
(C) © Ball pein hammer (Correct Alternative)
CIGRIE! Fﬁﬁ@}T (Correct Alternative)

(D) © Straight pein hammer
e U gdreT

Question No. 15/ Question ID 247 Marks: 2.00
What is the name of the part marked as ‘X’ shown in th

ferr o fe@me TTq x W fafed WIT &1 919 =1 872 WWW.QIOba“thorg




.globaliti.org

(A) O Barrel

(B) O Thimble (Correct Alternative)
e (Correct Alternative)

(C) O Anvil

(D) O Ratchet stop (Chosen Option)

v

¥ge Wiy (Chosen Option)

Question No. 16 / Question ID 129 Marks: 2.00
Which metal is used to make radius gauge?
& S T & o forg o1 &1 ST o ofTalT 872
(A) O Copper sheet (Chosen Option)
IR T (Chosen Option)
(B) O Mild steel sheet
HIses id 2fie
(C) O Hardened sheet metal (Correct Alternative)
FSR e Acd (Correct Alternative)




(D) O Aluminium sheet

TegHiATy e

Question No. 17 / Question ID 284 Marks: 2.00
Which type of operation is carried out shown in the figure?

ey B AT 77U {35 U R 7 SHTORRIA b STl 872

w.globaliti.org

(A) O Round groove
e gd

(B) O Vee groove (Correct Alternative) (Chosen Option)
al 9d (Correct Alternative) (Chosen Option)

(C) O Square groove

qd
(D) O Straight groove

t a

Question No. 18 / Question ID 311 Marks: 2.00
Which is used for locating the holes in the assembly shown in the figure?

o & gt U Ao o fsgl &1 udl e & fore it SuanT faban Sirdr 87




(A) O Screw (Chosen Option)
Ih (Chosen Option)
(B) O Dowel (Correct Alternative)

siad (Correct Alternative)

(C)O Bolt | b |t

o, www.globaliti.org
qc

Question No. 19 / Question ID 171 Marks: 2.00

Which equipment protects the body from the flying spark during gas cutting?
T BT & SR DI T SUBRUN ISl g RIRT F IRR BT & BT 82
(A) O Leather cap

TS DI Ul

(B) O Cutting goggles (Chosen Option)
(Chosen Option)
(C) O Leather shoes

(D) O Leather apron (Correct Alternative)
THS &1 TUH (Correct Alternative)

Question No. 20 / Question ID 97 Marks: 2.00
What is the other name of zinc coated iron?
e AR < T &R =TH 1 82
(A) O Tinned iron
feTs s
(B) O Stainless steel
LAY I
(C) O Black iron (Chosen Option)
CANIRSIR] (Chosen Option)




(D) O Galvanised iron (Correct Alternative)
ST del g3l K] (ﬁm STUX) (Correct Alternative)

Question No. 21 / Question ID 53 Marks: 2.00

Which metal cutting saw is used for cutting different profiles?
S{ET-{THT BT Pl Bl & fo18 fard Hed HicT Il 1 IUAIT far Sirar g2
(A) O Horizontal band saw

giGied o8 |
(B) O Circular saw (Chosen Option)

qr (Chosen Option)

(C) O Power saw

OreR i
(D) O Contour band saw (Correct Alternative)

$gx 9§ T (Correct Alternative)

Question No. 22 / Question ID 32 Marks: 2.00

Which ensures personal safety?
DIF-T AT GR&T TR e g2
(A) O Concentrating on your work (Correct Alternative) (Chosen Option)

3 HTH W AT Higd BT (Correct Alternative) (Chosen Option)
(B) O Keeping the tools at their proper place

<o ol Id IFd RIF TR 3T
(C) O Keeping the machine clean

DI It QT

D) O %féping the gang way and floor clean

ey www.globaliti.org

Question No. 23 / Question ID 249 Marks: 2.00
What is the reading of vernier micrometer shown in the figure?

o 7 fewmu U afieR A piHieR o1 uTsdie w87




(A) O 9.763 mm
9.763 mm

(B) O 9.923 mm (Chosen Option)
9.923 mm (Chosen Option)

(C) O 9.963 mm (Correct Alternative)
9.963 mm (Correct Alternative)

(D) O 9.563 mm
9.563 mm

.globaliti.org

Question No. 24 / Question ID 56
What is the main advantage of adjustable parallel block?
TSOReTd JHMIR sald b1 G ATH F1 672
(A) O To set different length
fafe dars Fuia o & fog
(B) O To set different angle
fafira swror Ruffea a1 & forg
(C) O To set different height (Correct Alternative)
faft= ﬁ'lg Ruifa s & f%l'l'{ (Correct Alternative)
(D) O To set different depth (Chosen Option)
faftre Tevrs fAuffvd v & fore (Chosen Option)

Marks: 2.00

Question No. 25 / Question ID 285
Which material is used to make the jaws of three jaw chuck?

oft ST a1 T & Sif 9 & e foo Irh 1 SuanT b STt 872

Marks: 2.00




(A) O Tool steel
RECRURSI]

(B) O Medium carbon steel (Chosen Option)
TH Hle- Tid (Chosen Option)

(C) O Low carbon steel
HH Hlad Lid

(D) O High carbon steel (Correct Alternative)
I Pl K d (Correct Alternative)

Question No. 26 / Question ID 181 Marks: 2.00
Which process refers to the finishing of drilled hole?
B Tt feha fge fbT T g 1 AR Y HafHa st 82
(A) O Counter boring (Chosen Option)
PT3eR AT (Chosen Option)
(B) O Counter sinking
B3R Rifdb
(C) O Spot facing
Tic BRI
(D) O Reaming (Correct Alternative)
JAfeT (Correct Alternative)

Question No. 27 / Question ID 230 Marks: 2.00
Which is the grade of tolerance?

TG BT IS DI A1 82

A Unilateral tolerance 1=
M e dre www.globaliti.org
(B) O Fundamental tolerance (Correct Alternative)
heTHed erenNd (Correct Alternative)
(C) O Bilateral tolerance (Chosen Option)
dqagﬂ GINEEY (Chosen Option)
(D) O Fundamental deviation

Aiferes faae

Question No. 28 / Question ID 89 Marks: 2.00
What is the name of the part marked as 'X' in vernier caliper shown in the figure?

o A fewme U affer SR 7 ' 3 Rifgd HFT &1 9m |18




(A) O Depth bar (Correct Alternative) (Chosen Option)
dIR (Correct Alternative) (Chosen Option)
B) O Thumb lever —_
e i www.globaliti.org
(C) O Fixed ja\\/Jv
Sl
(D) O Beam

Question No. 29 / Question ID 159 Marks: 2.00
Which welding hand tool is used to open the gas cylinder valve?
T RicisR dTed Wian & fore fory afed™ 8 ¢ o1 SudinT fasa ofraT 872
(A) O Adjustable spanner
TSoRead TR
(B) O Wrench

(C) O Cylinder key (Correct Alternative) (Chosen Option)
' §7_\rﬁ (Correct Alternative) (Chosen Option)
(D) O Cutting player
DT R

Question No. 30 / Question ID 190 Marks: 2.00
Which method of removing broken stud is shown in the figure?

7 7 o2 gU IS B ger B A A Yy s 7 87




.globaliti.org

(A) O Making drill hole (Chosen Option)
f$e @& §9MT (Chosen Option)

(B) O Prick punch
O gd

(C) O Using square taper punch
WPIIR TWR U BT YT BT

(D) O Ezy-out (Correct Alternative)
E\_rﬁ-G{TB'E (Correct Alternative)

Question No. 31 / Question ID 21 Marks: 2.00
Which process breaks down the materials into organic compounds that are used as manure?
DI It ufesar Il B e A § ds Sdt 8 fH®T Iuai [re & =0 § faar ST 87
(A) O Burning waste material
3Ry uary Sefr
(B) O Recycling

(C) O Composting (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(D) O Landfills




Question No. 32 / Question ID 310 Marks: 2.00
Which is the advantage of Total Productive Maintenance?

cied Ursfaed HeAd &1 & 91 a1y g2

(A) O Supply defective goods to the customers (Chosen Option)
P! ! QINYUT AIHM! ! @S BT (Chosen Option)

(B) O Reduces maintenance cost (Correct Alternative)
REIWTG AT FH B Sl % (Correct Alternative)

(C) O Unscheduled maintenance
SifYiRa TavEma

(D) O Produces goods without increasing product quality

JTG &1 TUra & o1 TeT axgsil HT ITe Bl §

Question No. 33 / Question ID 141 Marks: 2.00
Which powdered flux is used for soldering?

TieefT & fore {5 Ursex weiad &1 SUTRT fovdT ST 872
(A) O Hydrochloric acid

UK
(B) O Resin
R
(C) O Zinc chloride

(D) © Ammonium chloride (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Question No. 34 / Question ID 95 WWW . g I O baﬂla'i(ti(_)cO rg

What is the use of bent snips?
e RAe &1 SUanT 1 572
(A) O Groove cut

d HTeq & forg
(B) O Circular cut (Correct Alternative)

Fc & fog (Correct Alternative)

(C) O Zigzag cut (Chosen Option)

-5 PTed & forg (Chosen Option)
(D) O Straight cut

e e & fou

Question No. 35/ Question ID 271 Marks: 2.00
Calculate spindle speed for a turning dia 40 mm cast iron rod, if the cutting speed is 15 m/min.
40 Tl oo 91 = Alig B IS & fo Risa wie &) o &3, afe wfen wits 15 Hevfime 81
(A) O 119.4 rpm (Correct Alternative)
119.4 rpm (Correct Alternative)
(B) O 219.3 rpm
219.3 rpm
(C) O 100.3 rpm
100.3 rpm

(D) O 109.4 rpm (Chosen Option)
109.4 rpm (Chosen Option)

Question No. 36 / Question ID 206 Marks: 2.00




Which indicates the strength of the bond in the grinding wheel?
o TR i & e Bt didbd BI ST PRl 82
(A) O Structure
T
(B) O Grain size
U BT DR
(C) O Grade (Correct Alternative) (Chosen Option)
IS (Correct Alternative) (Chosen Option)
(D) O Grid

Question No. 37 / Question ID 227 Marks: 2.00
What is the lower limit of size, if dimension is stated as

3MTHR & el rar o § afe 3 39 YR a1 711 8

(A) O 24.85mm
24.85 mm

(B) O 25.00 mm (Correct Alternative)
25.00 mm (Correct Alternative)
(C) O 24.75 mm
2475 mm

(D) O 25.021 mm (Chosen Option)
25.021 mm (Chosen Option)

Question No. 38 / Question ID 153 WWW . i O 5 a/ltlI(E lQ(O rg

Which welding machine is designed to supply both A.C and D.C current for welding ferrous and non-
ferrous metals using all types of electrode?

DI It afedT 7= Tt UPR & Saiaeis &1 IUUNT dRe g SR 3 Urgsh & afed & faw A.C 3R
D.C T YRT3T T 3MYfe B & foIg TSoire &1 713 872
(A) O Rectifier set (Correct Alternative) (Chosen Option)
e (Correct Alternative) (Chosen Option)

(B) O Transformer set

TRIBIR
(C) O Engine generator set

25
(D) O Motor generator set

BENEE:

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 346 Marks: 2.00
What is the value of tan 45° if sin 45° = 1/ v2?
tan 45° faHT1 8N, TfT sin 45° = 142 B
(A) O




(C) O 1 (Correct Alternative)
1 (Correct Alternative)

D
D)o (Chosen Option)

(Chosen Option)

Question No. 2 / Question ID 335
What is the ratio of power output to power input?
Tfdd 3M3eye 3R XfGd I7YC BT SIaTd T gidl 82
(A) O Energy
Sl

(B) O Acceleration (Chosen Option)
XUl (Chosen Option)

(C) O Efficiency (Correct Alternative)
Q&[T (Correct Alternative)

(D) O Work
Eap

Marks: 2.00

Question No. 3/ Question ID 345
Which is equal to sin6?

sind {9 & RIR a1 82
(Chosen Option)

(Chosen Option)

(Correct Alternative)

(Correct Alternative)

www.globdlititorg

Question No. 4 / Question ID 338

Marks: 2.00




What is known for the temperature at which any solid melts into liquid?
foFg aTIHM W $Ts 319, %a & fgad g7
(A) O Boiling point
FaYih
(B) O Latent heat of vaporisation
IO T T 38T
(C) O Melting point (Correct Alternative) (Chosen Option)
AP (Correct Alternative) (Chosen Option)
(D) O Latent heat of fusion
RIS 1 [0 ST

Question No. 5/ Question ID 330 Marks: 2.00
How many millimetres are there in 1 inch?
139 4 fvan firefidier gid 82
(A) O 24.5 mm (Chosen Option)
24.5 mm (Chosen Option)
(B) O 2.54 mm
2.54 mm
(C) O 25.4 mm (Correct Alternative)
25.4 mm (Correct Alternative)

(D) O 2.45 mm
2.45 mm

Question No. 6 / Question ID 332 Marks: 2.00
Convert 0.456 decimal fraction into percentage?

0.456 GRIHd 33 1 UfcrId H dgferd? 1
4.56% (Chosen Option)

(B) O 0.0456%
0.0456%

(C) O 0.456%
0.456%

(D) O 45.6% (Correct Alternative)
45.6% (Correct Alternative)

3) ENGINEERING DRAWING

Question No. 1/ Question ID 348 Marks: 2.00
Identify the conventional symbol of material?

o 7 few@Tu U IrEh & URUR® Udie T UdT TRTa?




A) O Glass (Chosen Option)

B) O aljo(czlcrngrr;c:otrj:l(:gnative) WWW ] g IO ba I Itl ] O rg

51 (Correct Alternative)
(C) O Lead

(D) O Paper
DT

Question No. 2 / Question ID 368
Which arrow head is correct as per standard?

AP & 3TIR B9 91 4R < gl 872

(A) O
(Correct Alternative)
(Correct Alternative)
BO -

Marks: 2.00




(Chosen Option)

(Chosen Option)

C)O-
O-

Question No. 3 / Question ID 369
Identify the line 'b'?
R 'b' DI Ugd?

A) O Dimension line (Correct Alternative)
S(TATH T (Correct Alternative)

Marks: 2.00

-gObatorg




(B) O Leader line (Chosen Option)
drex s (Chosen Option)

(C) O Termination of dimension line
S{TITH 3T B FHIGT

(D) O Extension line
ICESIIRGASIER]

Question No. 4 / Question ID 356 Marks: 2.00
What is the trimmed size of A4 sheet?
A4 3fte &1 fon fasa gai SR a1 82
(A) O 148 x210
148 x 210

(B) O 841x1189
841 x 1189

(C) O 210 x 297 (Correct Alternative) (Chosen Option)
210 x 297 (Correct Alternative) (Chosen Option)

(D) O 594 x 841
594 x 841

Question No. 5/ Question ID 354 Marks: 2.00
Identify the conventional symbol of material?

I & URURS Udldh Dl Ugam?

.globaliti.org

(A) O Steel (Chosen Option)
UId (Chosen Option)

(B) O Wood
SEaS

(C) O Glass (Correct Alternative)
®Hid (Correct Alternative)

(D) O Concrete
RAlIREIuER




Question No. 6 / Question ID 370 Marks: 2.00
Identify the correct aligned system dimension?

gl WYd Red 3maM &1 g Hi?
(A) O

(Correct Alternative)

(Correct Alternative)

(Chosen Option)

www.globaliti.org

(Chosen Option)

(€)O




4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 409 Marks: 2.00
The word that expresses a sudden and strong feeling is called .
Jg e Sl A 3R Aol HIGHT 9ad Hdl § 39 Hel Sdl §
(A) O punctuation
faRm forg

(B) O apostrophe

A

(C) O interjection (Correct Alternative) (Chosen Option)
[ (Correct Alternative) (Chosen Option)

)0 conoor Wwww.globaliti.org

wﬂ\-ﬂ%ﬁw

Question No. 2 / Question ID 547 Marks: 2.00
A wireless technology that connects a laptop to the internet is called

Ueh JRRAY b1 ol qUSd Bl gexAc Aoledis  weamaiel
(A) O Source Network

(B) O Desktop
SWhely
(C) O Bluetooth
&Y
(D) O WiFi (Correct Alternative) (Chosen Option)
- tF'Ig (Correct Alternative) (Chosen Option)

Question No. 3/ Question ID 475 Marks: 2.00
Which one is NOT a benefit of oral cgmmunication?
RA® TR (3R HRIFBTA) FHT S AT A Tal 872
(A) O Itis forrecord (Correct Alternative) (Chosen Option)
It is for record (Correct Alternative) (Chosen Option)
(B) O ltis quick
It is quick
(C) O ltisdirect
It is direct




(D) O Feedback is immediate
Feedback is immediate

Question No. 4 / Question ID 579 Marks: 2.00
What actions should be taken after getting to know customer suggestions/problems?
e o G/ TS BT T &SI T HRATS B o1 AMGY?
(A) O Ask, Categorlze Act, FoIIowup (Correct Alternative)
@', ?ﬂﬁqv_d P9, 3Af araa?ff PRATS (Correct Alternative)
(B) O Ask, Followup
B, Wt
(C) O Ask, Solve (Chosen Option)
E@:T E'FIW Chosen Option)
(D) O Ask Act, Categorlze

sffafgH, aefipd &

Question No. 5/ Question ID 560 Marks: 2.00

The enterprises engaged in the production of goods is known as
HIA & I 8 T STH B ... & 1§ ST STl & |
(A) O micro enterprises

3{fd g AN
(B) O manufacturing enterprise (Correct Alternative)

3<IH (Correct Alternative)

(C) O service enterprises (Chosen Option)

a1 399 (Chosen Option)
(D) O macro enterprises

o o www.globaliti.org

Question No. 6 / Question ID 527 Marks: 2.00
What is the default name of newly created folder in windows?
IS H THTT 77T U WicsR &1 fSWiee 10 31 gl 872
(A) O New

q
(B) O Folder
HleeR

(C) O Blank (Chosen Option)
/& (Chosen Option)
(D) O New folder (Correct Alternative)
quﬁ@ (Correct Alternative)

Question No. 7 / Question ID 583 Marks: 2.00
Which of the following websites are not popular for finding jobs?

frafaRad & 9 & It dauTge A GioiH o 1T ATH 0 =161 67




(A) O Twitter.com (Correct Alternative)
Twitter.com (Correct Alternative)

(B) O LinkedIn.com
LinkedIn.com

(C) O Naukri.com
Naukri.com

(D) O Sheroes.com (Chosen Option)
Sheroes.com (Chosen Option)

Question No. 8 / Question ID 483 Marks: 2.00
A good way to respond to the question ‘Shall we start the discussion?’ is .
UY HhT 3R ﬁﬁ@ 33T dRIBT ‘Shall we start the discussion?’ is )

(A) O To conclude
To conclude

(B) O But, don’t you think?
But, don’t you think?

(C) O Yes, let’s start. (Correct Alternative) (Chosen Option)
Yes, let’s start. (Correct Alternative) (Chosen Option)

(D) O To sum up

To sum up
Question No. 9 / Question ID 395 Marks: 2.00
Fill in the blank with correct future tense of verb. “We to the zoo after Breakfast “
IERIk] HEQT i BT & 1Y Rad -IF W11 “We to the zoo after Breakfast “
(A) O are going

are going -
(81O had gone (Chosen Option www.globaliti.org
had gone (Chosen Option)

(C) O will go (Correct Alternative)
will go (Correct Alternative)

(D) O went
went

Question No. 10 / Question ID 559 Marks: 2.00
Paid form of ideas, goods and services are called

R, aegalt AR i P A P B .. HET S gl
(A) O publicity

UdR
(B) O advertisement (Correct Alternative)

(Correct Alternative)

(C) O goodwill

RIIRC]
(D) O public relation (Chosen Option)

S YU (Chosen Option)

Question No. 11 / Question ID 379 Marks: 2.00
People from all religions or no religions are treated equally means

Tt yif o fopet oft erf & Qv & Ty gHH aeR e P S g L SegeR 3
A) O dempcratlc




(B) O non secular (Chosen Option)

(€)O

(D) O

R yHfRYe (Chosen Option)

secular country (Correct Alternative)
& 3T (Correct Alternative)
religious

Question No. 12 / Question ID 398
Fill in the blank with proper interrogative adjective. are you going?

3Ifod SeRAICT faRivor & a1y fRad =i Wi are you going?

(A) O
(B) O
(C)O
(D) O

Which

Which

Who

Who

Where (Correct Alternative)
Where (Correct Alternative)

What (Chosen Option)
What (Chosen Option)

Marks: 2.00

Question No. 13 / Question ID 518
The expansion of RAM is

"RAM" T fadR § -

(A) O
(B) O
(€)O
(D) O

Random Access Memory (Correct Alternative) (Chosen Option)
Random Access Memory (Correct Alternative) (Chosen Option)

Read Octet Machine

Read Octet Machine 1=
Random Access Machine WWW ] g IO ba I Itl u O rg

Random Access Machine

Read Access Memory
Read Access Memory

Marks: 2.00

Question No. 14 / Question ID 517

The expansion of LAN is

"LAN" T AR & -

(A) O
(B) O
(€) O
(D) O

Local Area Name
Local Area Name

Legal Area Network
Legal Area Network
Local Area Network (Correct Alternative) (Chosen Option)
Local Area Network (Correct Alternative) (Chosen Option)

Logical Area Network
Logical Area Network

Marks: 2.00

Question No. 15/ Question ID 384
Time management

(A) O

(B) O

complete your task on time (Correct Alternative)
ST HT THT R T Gy (Correct Alternative)
managing time

U= JHY

Marks: 2.00




(€)O

(D) O

problem solving (Chosen Option)

O &1 AT (Chosen Option)

hard skill

Question No. 16 / Question ID 500 Marks: 2.00

1 Byte =

193¢
(A) O

(B) O
(C)O

(D) O

8 bits (Correct Alternative)
8 ﬁm:r (Correct Alternative)
2 bits

2 facy

16 bits

16 focH

4 bits (Chosen Option)

4 %‘c’ﬂ (Chosen Option)

Question No. 17 / Question ID 438 Marks: 2.00
What is stress?
GEICKSICF,

(A) O
(B) O
(€) O

(D) O

Feeling of delight

3iTHg & rgyfd

Feeling of frustration / disappointment (Correct Alternative) (Chosen Option)

o= / fART=T FY YEn (Correct Alternative) (Chosen Option)

Feeling of surprise "L-

) i www.globaliti.org
Feeling of joy

3{Hg Bt Srgyfd

Question No. 18 / Question ID 372 Marks: 2.00
The ability to do is
...... B P GHAT B

(A) O

(€)O

(D) O

Job (Correct Alternative)
PTH (Correct Alternative)
Experience

S3{JHd

Knowledge (Chosen Option)
3T (Chosen Option)

Skill
I

Question No. 19 / Question ID 402 Marks: 2.00
Fill in the blank with suitable adjective for the given sentence “The little girl’s...... eyes revealed her
mischief”

fau ¢ gty & ferw Sugdd faRivor & 1y fXad RIF R “The little girl’s...... eyes revealed her mischief’

(A) O
(B) O

chubby
chubby
weak
weak




(C) O twinkling (Correct Alternative) (Chosen Option)
twinkling (Correct Alternative) (Chosen Option)

(D) O short sighted
short sighted

Question No. 20 / Question ID 490 Marks: 2.00
Women are soft-spoken and forgiving
AfgATg ggHTH SR aF=Ad Bl ... |
(A) O always true
EERIKSE)
(B) O gender stereotype (Correct Alternative) (Chosen Option)
e F%EIT%EIT (Correct Alternative) (Chosen Option)
(C) O always false
R

(D) O sometimes

HH-HH

Question No. 21 / Question ID 466 Marks: 2.00
What should come next after “selecting the solution” in problem solving process?
TR JHIYM Ufehar § qH1e &1 999" B & §1G SAF T 3 AMfgy?
(A) O Identify the problem
TH Bl
(B) O Look for alternate
fapey & forg gl

(C) O Root cause analysis (Chosen Option)

T HRUI ST fa=eq§0T (Chosen Option) WWWQIOballthrg

(D) O Implement the solution (Correct Alternative)
THTYTT B Ffl'llilﬁ (Correct Alternative)

Question No. 22 / Question ID 496 Marks: 2.00
Debit card will have how many digit numbers
Sfac @18 o fha sl &1 S gitt.......|

(A)O 18
18

(B)O 14
14
(C) O 16 (Correct Alternative)
16 (Correct Alternative)
(D) O 12 (Chosen Option)
12 (Chosen Option)

Question No. 23 / Question ID 464 Marks: 2.00
Noise, physical discomfort of hotness or coldness comes under
IR, TH a1 St ATl IRING Sragorar & SIld SMTeht §

(A) O environment barrier (Correct Alternative)
Y TaRoT STem (Correct Alternative)

(B) O culture barrier
ek d1YUT

(C) O language barrier (Chosen Option)
UTHT &1 dTYT (Chosen Option)




(D) O perception barrier
EICI

Question No. 24 / Question ID 523 Marks: 2.00
What is a shortcut key for “cut” command?
"He" HHIS & foT8 T Yedhe B (Foll) T 82
(A) O Ctrl+V
Ctrl +V
(B) O Ctrl+C
Ctrl+C

(C) O Ctrl + X (Correct Alternative)
Ctrl + X (Correct Alternative)
(D) O Ctrl + A(Chosen Option)
Ctrl + A (Chosen Option)

Question No. 25 / Question ID 411 Marks: 2.00
Which is a silent letter in the word “ANSWER”?
“ANSWER’ Xeg § &I I H& 3R 82

(A)O S
S

(B)O R
R

(C) O W (Correct Alternative) (Chosen Option)
W (Correct Alternative) (Chosen Option)

(D)O E

E ohaliti ord




